=0 o
2023 20 LBHEH 3 D
SA: FHD
I 3| 2El(LBIBTHE /L)
CHelr 3|2 (CHl: X 21)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
3410 6,015,629 3,434,874 2,580,755
SRR (YL DD /UBHEE) 76,180 80,570 4,390
ERER 76,180 80,570 A4,390
NEEEDN 54,180 58,570 A4,390
201 LB 51,200 55,700 A4,500
01 AlR2r2IH] 51,200 55,700 A4, 500
OZASOI(0h) L RIoHE A HIE
20,0002 1205 2,400
OZAN L HRNR M
120,000 %1205 14,400
O&MENAM HMIZ 50,0002 %1202 6,000
Ozg=Eg M 30,0008 % 150 4,500
OSIH WS HIE 30,0002 1008 3,000
OFLI0| LIN42 ZAL DA M
15,0002 *2005 3,000
OZABARIR &g 15,400
—il 120,000 x5 »222 13,200
—Oibl 20,000 21+5&*22 2,200
O2AN HED| 22l 1,000,000 14! 1,000
O=AN HHEI| A2Z ¢
300,000 *58FA 1,500
301 LBIEA =2 2,230 2,120 110
11 AR XS 2 2,230 2,120 110
OZAZAIRIZ SA|
8,0002 x5 %22 880
OZAZEAIRIR 2E DK &4 o
90,000 x5 *3 1,350
307 2IZH0IA 750 750
12 QI2t0IEt NS 750 750 0
OZMAAIRIY St DSH|
150,0002 %52 *13] 750
ENESIEE] 22,000 22,000 0
201 LB 22,000 22,000
01 AlR22lH] 22,000 22,000 0
O=AIR)| Ml & 2t XIEA QI
10,0002 10052#15 1,000
OUEHSIHBLIBHAL S) HERE ZE 2
21,000,0002 %14l 21,000
HARR|(UBID BT /UBHHE) 514,290 1,093,729 579,439
pIEIRIE] 514,290 1,093,729 579,439
HASEYSL2 39,150 38,350 800
201 L2 39,150 38,350 800
01 AlR2r2lH] 24,650 24,350 300
@IEIES =13 4,600




2A: 3 H D
I kel (YetsI N /UBEN)
s AHlefae| (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
—JoF2E A S0l
100,000&*55*13] 500
= HEE 2 U@ ==
300,000&*35+23] 1,800
—=5 ¥ x2e| M ROl
100,00024+55+13] 500
—=J182X 7Y 30,0002 55+ 12 1,800
OHerploIR g 294 4,500
k= 70,00024% 10253 3,500
—FI20 20,0002 %10 *53] 1,000
OFZAAF T2 210l6dA 7Y
1,500,000 * 14! 1,500
O=22 dAE0 2 4,050
—ct& B 300 *4,5000H 1,350
—SIXIg B2 4002 %4, 5000H 1,800
—XHHE Ei2 1,000 %9000H 900
OXXYE olgs2 20,000&%50021 10,000
02 2323H| 14,500 14,000 500
OZ2ZZ2I(RFID)AIAE H/W & S/W RS
14,500,000 14! 14,500
2352 141,000 172,100 A31,100
405 KHabE SH| 141,000 172,100 A31,100
01 T EEFHSHI 141,000 172,100 A31,100
Oodued] 2 15,000
—NEHFV(AITF) 5,000,00021CH 5,000
—EXSTDH(AITF) 5,000,0002*2CH 10,000
odey| 2 6,000
— L OIFOHOI DH AITR)
3,000,000 *1CH 3,000
— &I TH A DH(CHA)
3,000,000 *1CH 3,000
OtlCI2EZ= M 2 4,000
—EXRXIDH(AIT) 2,000,000 *1CH 2,000
— &g TH A I A7)
2,000,000 *1CH 2,000
OREHHJAEII 3,500
— &gl THF S D AIF)
3,500,000 «1CH 3,500
OGNEELASHO0IEX 5,000
—&HIQITHF S DH(AlFT)
5,000,000 +1CH 5,000
OFX=AD 2 35,000
ar=n 20,000, 0002 *1CH 20,000
— &HI IR 2k D} 7,500,000 1CH 7,500
—Ots&EAE0 7,500,000 1CH 7,500




SA: FHD
I PR (LBIBTHE /L)
el Hlerztel (crel: M)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
OSZZ2I(RFIDAIAE H/W & S/W 2 19,500
—2IH?| 2,600,000 +3CH 7,800
—s| 3,900,000 =2CH 7,800
—S/W 3,900,000+ 14! 3,900
OFAL A28 =5&I| WA 53,000
— Yy 300, 00024602 18,000
— 9k 200, 00024 +602 12,000
—IHBI 300,0002%302¢ 9,000
—IIEIE S DIEF A28 &)
200,00024%707H 14,000
I 334,140 883,279 A549,139
201 LB 329,100 329,879 ATT9
01 AlR2r2lH] 36,000 36,000 0
omEx Akt 36,000
—AIE Mexe ARt
2,000,000 * 122 24,000
—SAE d2xte AR
1,000,000 * 122 12,000
02 2224 293,100 293,879 ATT9
OXtsA 2222 2 HIAl 43,285
—RFSXHAI 23,570
Hass 300,000 +7CH 2,100
=8z 200,00024*27CH 5,400
- ASSR 100,000 *3CH 300
- JEsSE 70,0002 *20CH 1,400
O=EEsE2 300,000 % 19CH 5,700
RS 150, 0002 *3CH 450
- S8s5E 100,000 7 CH 700
- ABSE 80,0002 *1CH 80
cB2(AS, =8) 80,000 24+53CH 4,240
Sa3is 100, 00024*32CH 3,200
—AARRE 4,105
teEs=2 23,0002 %7 CH 161
=822 23,00024%27CH 621
CABSE 23,00024*3CH 69
- JESE 17,500 *20CH 350
-I=EEse 23,000 *19CH 437
=ESh 29,5002 *3CH 89
= 26,50024%7CH 186
- ABISE 26,5002+ 1CH 21
- 8512 26,5002 %54 133
- ABSI2 23,0002 *48CH 1,104
- Sasl2 29,00024*32CH 928




SA: FHD
I A2 (LI BIME/UBIEHN)

cHel: Jotae)

2A - FHH - A2(SH) - HIRA - BES Oil ArH a1=Es
Oil ArH
— AR E 15,610
c=2xs2 100, 0002 * 19CH 1,900
WSS 250,000 *3CH 750
= 200, 0002 %7 CH 1,400
- ABZF 120, 00024 *3CH 360
- E852 200,000 *5CH 1,000
L8512 120,000 *45LH 5,400
sa5i2 150, 00024 *32CH 4,800
OHEIH BA42 165,0002*11CH 1,815
O32rtg & A& 282 90,000
—2EIt2 17204, HA&IIH 11CH, OIBXIS R 104
90,000,000 * 14! 90,000
OXtatalet] 158,000
—Xtg Xl 158,000
- 30H36T6(SE, ABEE, 3YUR)
15,000, 0002 *1CH 15,000
S14016222( 28, PAIRNE, 3LR)
4,000,000 % 1CH 4,000
-5AKB643(SE, AUDPE, FYR)
2,000,000 % 1CH 2,000
- 2M2256(SE, UPE, FUR)
2,000,0002 % 1CH 2,000
- RA21B(sE, B, FUR)
2,000,000 1CH 2,000
- 32M2226(58, EER, FYUR)
2,000,000+ 1CH 2,000
- RM2221(EE, EEE, JYR)
2,000,000 % 1CH 2,000
- 20KO248(SE, EER, FUR)
2,000,000 *1CH 2,000
-20K49(SE, B, FUR)
2,000,000 *1CH 2,000
-20KRMR(SE, B, FUR)
2,000,000+ 1CH 2,000
-BTAIB77 (SR, EER, FYUR)
2,000,000 % 1CH 2,000
- RM20(s8, AR, FUR)
2,000,000 % 1CH 2,000
- 2M2237 (58, EER, FYUR)
2,000,000 *1CH 2,000
- 2A2B(sE, B, FUR)
2,000,000 1CH 2,000
-BTAIBM(SR, EAR, FYUR)
2,000,000+ 1CH 2,000
-21R4T14(S R, EER, FHYUR)
2,000,000 % 1CH 2,000




SA: FHD
M Jforate|(LeB 3 /B E )
CHRl: ezt

2A - FHH - A2(SH) - HIRA - BES Oi| AkoH %E%E“

RBEMUM(5E, EEE, 3LUR)

2,000,000 1CH 2,000
BEMB(SE, EEE, LR)

2,000,000 1CH 2,000
- BT0U(5E, EHE, FLR)

2,000,000 1CH 2,000
- 20MHe7(CIsmsE, 928, 3R)

2,000,000 1CH 2,000
- 2622205(LIsNEE, 928, 3R)

2,000,000 1CH 2,000
C29HTTIH(CI2ESE, 228, B])

2,000,000 1CH 2,000
- 16M53V(CISHSE, MENES, BR)

2,000,000 1CH 2,000
- 16X5300(CHRESE, ISIEE, FR)

2,000,000 1CH 2,000
-0211905(LISESE, WSKEE, ER)

2,000,000 1CH 2,000
- 20K901(CIBESE, I2PE, ER)

2,000,000 1CH 2,000
PR (TISHEE, 2HMS, ER)

2,000,000 1CH 2,000
- 13J15606(CH2E s, 28, FR)

2,000,000 1CH 2,000
BANTIIT(CISNEE, U S8, TR)

2,000,000 1CH 2,000
- 710H5588(LHEISE!, clEsss, ER)

18,000,000 = 1CH 18,000
- 74211610(HESE, 2482, 3R)

18,000,000%*1EH 18,000
-71H5784(BESE, ELsE, ER)

3,000,000+ 1CH 3,000
STIF7043(SESE, 228, 3R)

3,000,000 1CH 3,000
-71H58R(EESE, HRE, ER)

3,000,000+ 1CH 3,000
- 72022010(ASSE, AEREIE, 3R)

2,000,000 1CH 2,000
- RE2937(BEEE, AHEE, ER)

2,000,000 1CH 2,000
- TXBTT(AEBE, MEE, ER)

2,000,000 1CH 2,000
- 832641 (AEEIE, AHHE, BR)

2,000,000 1CH 2,000
- 803A5910(AEBIE, AHE, BR)

2,000,000 1CH 2,000

- 83016403(A 852, AIEE, ER)
2,000,000 1CH 2,000




24 A
FEH: HOrDID|(UBIRTHE /2UBISHE)
el Hlerztel (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
- BRT0R (A2, AR, ER)
2,000,0002*1CH 2,000
- BEEBR(ABSIS, AR, ER)
2,000,0002*1CH 2,000
- 9728900( A SIS, AIE, AR)
2,000,0002*1CH 2,000
- RET91( A, AlE, ER)
2,000,000 1CH 2,000
- 8323223( AL A, AR, ER)
2,000,000 *1CH 2,000
- 9BATIIB(ALZI A, AIRIE, ZR)
2,000,0002*1CH 2,000
- B326320( AFZIEHHI, AIRIE, ASR)
2,000,000 *1CH 2,000
- OBZRBAG(AIZIBHHI, AIRE, HR)
2,000,000 1CH 2,000
- B2L12031(Sa42, AlE, ER)
2,000,0002*1CH 2,000
- Q72963 ( AR, AIIE, ZR)
2,000,0002*1CH 2,000
- B30HB72( AR, AIRIE, ZR)
2,000,0002*1CH 2,000
- OBEEBA0( AR AR, ASR)
2,000,000 *1CH 2,000
- OBE5832(RIBHRE, AERIGIE, AR)
2,000,0002*1CH 2,000
CTAHTI0(CIE RS E, U2, 2BR)
2,000,0002*1CH 2,000
301 LB A= 5,040 5,400 2360
11 AR RZ 5,040 5,400 2360
o282 JIE HEXAHE &}
90, 00024282 x2 5,040
THAMZIE| (B D2 A /U BIHE ) 5,257,303 2,096,380 3,160,923
A2 5,045,653 1,886,090 3,159,563
=Xz 1,354,014 1,526,490 A172,476
101 o12| 9,620 0 9,620
04 JRIMZ 2R EES 9,620 0 9,620
OFAL 2 ZHD| o182
76,960 R x5 #5453 9,620
201 LBr2 Y 1,091,8% 1,153,990 62,09
01 AlR22lH] 20,750 91,830 AT71,080
OZY ¢xg HEM 2
15,0002 * 10 53] 750
ORMBZE A2 HIQHEAEA
5,000,000 %23 10,000
OAMEAF HIHAXIRIC 2
10,000,000 * 14! 10,000




© S
COTHARZRE | (LRSS A/ UL N)

=

D OEARR
SA - FH - O(3) - MSAY - BES ofl Ao ]
02 2==9| 1,071, 144 1,062, 160
O=Z22 ¢ HAl 732,220
—mI|ea 422,964
== 9, 152241, 000kw* 122 109,824
ANERZ(6-82)
17021%200, 000kw*32 102,000
- AER2(3-5Z, 9~102)
1092*180, 000kw*52 98,100
- AIBR2(1-22, 11~128)
15724%180, 000KkW*4 2 113,040
— LR JIAQT(EXIEIY)
3124%50,000m * 122 18,600
—a=Els 1, 1502900 * 122 12,420
—otrERs 1,82024*900m * 122 19,656
—FHIIAIL QRPN 242
1,400,0002 %122 16,800
—ABAA SR 242
500,000 * 122 6,000
—22)| RAUY 242
220,00021%20) A 122 5,280
—JtAANDHH AL RO
200,000 *23] 400
gt Essi=lal 50,0002 %23 100
—XMHE SHab 230,000
- HSAILSTHH=T ZHIEH]
140,000,000 *13] 140,000
S HES oA 2H B
90,000,0002*13] 90,000
OZAL IO &= 2500021420} * 122 12,600
OAIEEH| S| 155,700
—HAF FIIAA SXI2 26,200
C2UQ DA X2 Y IHHRY
1,800, 00024%93] 16,200
A JIRS - 2Ot |24
1,000,0002 %103 10,000
—HAF YLD RX2%
100,0002* 120CH 12,000
—RAES TS 500,00024+53] 2,500
—2A2 24 40,000
= 20,000,000 % 14! 20,000
SN 10,000,00024% 14! 10,000
s 5,000,000 * 14! 5,000
S 5,000,000 %14l 5,000
—HAg9H| 60,000
AU 15,000, 00024%23) 30,000
AL QS 15,000, 00021%23) 30,000




SA: FHD
I THAIZE|(LRI B3 EHE/UBIEhN)

ot EArzte T i} (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
—= 2 sl 15,000,0002*14! 15,000
O&A £=(0HE) 15021%9, 898 M +53] 7,424
OFA AS(2Z2LH19 o)
5,800,00021%263] 150,800
OBA X HA
400,000 *37 A#235] 2,400
OFXZHMAIAL SXSS
10,000,00084%14! 10,000
305 BIAI2S 2,500 2,500
01 tHAl2S 2,500 2,500 0
OUEZ 2oHtia X2
2,500,00024* 14! 2,500
LIPS 250,000 370,000 120,000
01 Al 250,000 370,000 120,000
OFAF Al etderel 50,000, 0002 %1 4! 50,000
OANEA BUOIHAICH 2
100,000, 00024 * 14! 100,000
ONZ st&al 2|2ual A
100,000, 00024+ 14! 100,000
R 22,600 9,000 13,600
201 B2 | 22,600 9,000 13,600
01 ARz 2,400 2,400 0
O22 A OHIIE 22|
200,0002!* 122 2,400
02 B2 20,200 6,600 13,600
O 583 30000024+ 128 3,600
OZAL FAIE24= 16,600
—o% ¢X o ZEDH
2,500,0002+2= 5,000
—L5 H2PLDA
11,600,00081%1S 11,600
EEEJNEEN 3,637,000 340,000 3,297,000
IEEEEE] 3,637,000 340,000 3,297,000
01 Al 3,577,878 340,000 3,237,878
OBHSIIME AL oI
80,000,0002 14! 80,000
OHF=XME A SHEY(Z2EE) 1,156,000
— =250 HY=STME
332,000,00024* 14! 332,000
—CHANDY SRS | MIEY
330,000, 00024 * 14! 330,000
—S&1S #H=XMH
250,000,00021* 14! 250,000
—ItE2s #H=XMH
244,000,00024+ 14! 244,000
OHHEXME W SABAL 2,191,878




SA: 3D
T Jme(LUEBEE L)
ot EArzte (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
—0l&HH HE ST MY
440,000,000 *14]*97.8/100 430,320
— 240 HH=T|ME
319,000,000 *141%97 . 24/100 310,196
—&==0 HIFXHH
128,000,000& *141x94.2/100 120,576
—=&0 HF=IXHH
440,000,000 *141%97.8/100 430,320
—2A0 HH =T HE
188,000,000 *141%95.82/100 180, 142
—AFS BT
736,000,000 *141%97.87/100 720,324
QHEESNMEH HOYAIL SHESAH EHES
60,000,000 * 14! 60,000
Og=c2s FRAXINE HSHEH SA
90,000,000 *14! 90,000
02 Zcldl 43,580 0 43,580
OHF=XME WHEZZBA 43,580
—0l4HH HE=ZX|HIH
440,000,000 *14]*1.48/100 6,512
—EAp WEETHE
319,000,000 *14]%2.04/100 6,508
—TA01 B =T| M
128,000, 0002 *141%5.08/100 6,503
—eEP WE=THE
440,000,000 *141%1.48/100 6,512
— S0 AY=T|ME
188,000,000 *14]%3.46/100 6,505
—ZF1s dE=EXHH
736,000,000 *141%1.5/100 11,040
03 Al S0HYI 15,542 0 15,542
OEESXNH HAEZSA 15,542
—0l&tH HE=SXIHE
3,168,000 14 3,168
—=2==0 HFFXHH
2,296,0003*14! 2,2%
— TP HH =T HES
921,000& *14! 921
—=E0 HZ=XHH
3,168,000 14 3,168
— X0 HH ST HE
1,353,000 * 14| 1,353
~ATS BH=THE
4,636,0003*14! 4,636
I=SYU=EH 2e| 32,039 10,600 21,439
201 et 3| 32,039 10,600 21,439
02 23224l 32,039 10,600 21,439
O3322z & MA 2,600




SA: FHD
M THARE|(LBIE DT/ UBEE)
ool ZArzel (Crol: X2l
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
—MIR=, Jlie= 200,000 * 122 2,400
—IPAOE | A} 200,000 *13] 200
OUhFe! H4x HA
500,000 <2523 2,000
OUM=e ZZAILS X2
1,500,000 x2S #23] 6,000
OUHFE Xgaac Metzg A0TRe3 XIS
21,439
— ol z=eH
869,500 x28MICH*2. 1791%0.3%1.3 20,605
—ZR2IAIRA
869,5002/%92. 16m'+0.008+1.3 834
222 211,650 210,290 1,360
ZRTHA2ER] 211,650 210,290 1,360
201 LBt Y 26,650 26,920 N270
01 AF22t2IHI 26,650 26,920 N270
OZSTHAA OIS 294t 4,200
-G 70,0002 +6E*103] 4,200
OAISTHA S22
500,000 20 Z X| 10,000
OLBBIIe22
200, 0002 *x25Z! X[ +2IH A 10,000
O=SMa 82 2,450
—0ot2E 450-20 1,500,000 14! 1,500
—ChAN Ofete| 319-2 950,000 *1 Al 950
207 SN 185,000 183,370 1,630
01 AR=2AH 185,000 183,370 1,630
OZSTHA AEIZAL 2 DB 2= 9
185,000, 00094 14! 185,000
X SHAY| (S HI D) (D1EHIIEH 167,856 164,195 3,661
REEET 44,424 43,403 1,021
REEE=E] 44,424 43,403 1,021
101 Q124H] 44,424 43,403 1,021
03 B2 (I HL)22XES 44,424 43,403 1,021
OXEgREXx 44,424
—Jl=a 2,284,060+ 1128 27,409
—HESOM| 2,284, 0602 %23/ x75% 8.427
3248 2,284, 0602 x 1223 *50% 2,285
—Jt=E=S(JIEH 20,0002 %1% 122 240
— A2t 2R4g
14,3532 % 150%+ 15 A1 2+ 12+ 122 3,876
—§24225G
114, 82421 1500 1H* 15 2,584
—dREIENLY
114,824 2% 1215 1,723




S 3| H D
= H™H2AZHI(3IAHDH) (JIEHJIE
el QI E S (EERSED)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
—HAHF A 140,000 *1H* 122 1,680
—us=22l 100,000+ 12122 1,200
DIEEEE] 123,432 120,792 2,640
DIE=E=LE] 123,432 120,792 2,640
201 LB 30,312 27,672 2,640
01 AtR2t2|H 30,312 27,672 2,640
O=AMEX 7 20,000 %228 Ax 122 5,280
OSZ20HAlbl 8,000 *6A! 228 x 122 12,672
Ot 100,000 %12 1,200
OARZ2 TN 50,000+ 122 600
OARSZ $4H| 9,240
—SADI(UE) =al
1,000,000 *1.5CH 1,500
—I2IEI| =2l 100, 000 *4CH*50% 200
—=SADI EH 200,0002%53]*1.5CH 1,500
—ORIEDI(5Y) E
200,000 %53 x4 CH 4,000
—IRIEDI(~Zet) EY
200,000 %531 CH 1,000
—PC ==2| 100, 00024 *22CH*20% 440
—J|Et 22lbl 50,0002+ 12 600
OJIEt AFR2t2IH] 5,0002 22 x 122 1,320
202 OFHI 87,120 87,120
EXCE 87,120 87,120 0
(@8 [:]:] 20,0002 x22%* 122 x 122 63,360
O 04| 90,000 *22 3« 122! 23,760
203 LR=ZIH| 4,800 4,800 0
04 BANR2IAREFIH| 4,800 4,800 0
ORAN2IARETIH| 400,00024% 122 4,800
204 XA HAY| 1,200 1,200
01 A IARLHAY| 1,200 1,200 0
OXHUZALHHAY| (I HDE)
100,000 * 1% 12 1,200




